

Available online at http://scik.org Adv. Fixed Point Theory, 2022, 12:10 https://doi.org/10.28919/afpt/7591 ISSN: 1927-6303

# $\rho$ -ORTHOGONALITY PROPERTIES IN 2-NORMED SPACE

#### YUNNA MA\*

College of Science, Tianjin University of Technology, Tianjin, 300384, China

Copyright © 2022 the author(s). This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract. In this paper, we define two 2-norm derivatives in 2-normed space and give some results. We use 2-norm derivatives to study the  $\rho$ -orthogonality in 2-normed space. We define  $\rho$ -orthogonality,  $\rho_+$ -orthogonality,  $\rho_-$ -orthogonality in 2-normed space and give some properties of it.

Keywords: orthogonality; 2-norm derivative; 2-normed space.

2010 AMS Subject Classification: 46A70, 46C99.

### **1.** INTRODUCTION

The study of orthogonal properties in normed space is an important research direction. There have been many studies in orthogonal properties on normed space. Many scholars [1, 2, 3, 4, 8, 9] have put forward a variety of orthogonal relations. For the study of  $\rho$ -orthogonality, the author [10] have defined it by norm derivative. The norm derivatives are also called superior and inferior semi-inner products. They also proved that when the derivatives of two norms are equal, it is equivalent to that the space is smooth. Other properties of  $\rho$ -orthogonality are also proved in [11, 12, 13, 19, 20].

In 1965, G*ä*hler [5] introduced the concept of 2-normed space, which is a generalization of normed space. However, there are few studies on the orthogonal properties of 2-normed space.

<sup>\*</sup>Corresponding author

E-mail address: mayunna1997@163.com

Received July 05, 2022

#### YUNNA MA

In 1975, White and Diminnie [14] gave a characterization of 2-inner product space by using the partial derivatives of bifunctionals. In 2006, the concepts of P-orthogonality, I-orthogonality, BJ-orthogonality in 2-normed space have been given in [17]. In 2007, Mazaheri and Nezhad [15] gave the definition of b-orthogonality in 2-normed space and gave some results in this field.

In this paper, we mainly study  $\rho$ -orthogonality in 2-normed space. We define two 2-norm derivatives in 2-normed space. We prove some properties of 2-norm derivatives. We find the relationship between 2-norm derivative and 2-inner product and the relationship between 2-norm derivative and 2-inner product. We also define  $\rho$ -orthogonality,  $\rho_+$ -orthogonality,  $\rho_-$ -orthogonality in 2-normed space and give some properties of it.

# **2.** MAIN RESULTS

We first introduce the concepts of 2-normed space and 2-inner product space. The concept of 2-normed space was introduced by  $G\ddot{a}$ hler, which was widely generalized by other scholars [5, 6, 7].

Let *X* be a real linear space of dimension greater than 1 and let  $\|\cdot, \cdot\|$  be a real valued function on *X* × *X* satisfying the following conditions:

(a) ||x, y|| = 0 if and only if *x*, *y* are linearly dependent;

(b) 
$$||x,y|| = ||y,x||;$$

- (c)  $\|\alpha x, y\| = |\alpha| \|x, y\|$  for  $\alpha \in \mathbb{R}$ ;
- (d)  $||x, y + z|| \le ||x, y|| + ||x, z||$  for every  $x, y, z \in X$ .

 $\|\cdot,\cdot\|$  is called a 2-norm and  $(X,\|\cdot,\cdot\|)$  is called a 2-normed space. Some basic properties of 2-normed space, which are nonnegative and  $\|x, y + \alpha x\| = \|x, y\|$  for all  $x, y \in X$  and for each  $\alpha \in \mathbb{R}$ .

Ehret [6] gave the concept of 2-inner product space. Let  $(\cdot, \cdot | \cdot)$  be a real valued function on  $X \times X \times X$  which satisfies the following conditions:

(a)  $(x, x|z) \ge 0$ , (x, x|z) = 0, if and only if x and z are linearly dependent;

(b) 
$$(x, x|z) = (z, z|x);$$

(c) 
$$(x, y|z) = (y, x|z);$$

- (d)  $(\alpha x, y|z) = \alpha(x, y|z)$  for  $\alpha \in \mathbb{R}$ ;
- (e) (x + x', y|z) = (x, y|z) + (x', y|z) for every  $x, x', y, z \in X$ .

 $(\cdot, \cdot|\cdot)$  is called a 2-inner product and  $(X, (\cdot, \cdot|\cdot))$  is called a 2-inner product space.

Ehret [16] proved that if  $(X, (\cdot, \cdot | \cdot))$  is a 2-inner product space, then  $||x, y|| = (x, x|y)^{\frac{1}{2}}$  defines a 2-norm.

**Definition 2.1.** Let  $(X, \|\cdot, \cdot\|)$  be a real 2-normed space. We define two mappings  $\rho'_+(x, y; z)$ ,  $\rho'_-(x, y; z) : X \times X \times X \to \mathbb{R}$ 

$$\rho'_{+}(x,y;z) := \lim_{t \to 0^{+}} \frac{\|x+ty,z\|^{2} - \|x,z\|^{2}}{2t}$$

$$\rho'_{-}(x,y;z) := \lim_{t \to 0^{-}} \frac{\|x + ty, z\|^{2} - \|x, z\|^{2}}{2t}.$$

The mappings  $\rho_{+}^{'}(x,y;z)$ ,  $\rho_{-}^{'}(x,y;z)$  are called 2-norm derivatives.

Remark 2.2. (a) According to the above definition, we can verify that

$$\begin{aligned} \rho'_{\pm}(x,y;z) &= \lim_{t \to 0^{\pm}} \frac{\|x+ty,z\|^2 - \|x,z\|^2}{2t} \\ &= \lim_{t \to 0^{\pm}} \frac{\|x+ty,z\| + \|x,z\|}{2} \frac{\|x+ty,z\| - \|x,z\|}{t} \\ &= \|x,z\| \lim_{t \to 0^{\pm}} \frac{\|x+ty,z\| - \|x,z\|}{t}. \end{aligned}$$

In particular, if  $z = \alpha x$  or  $z = \beta y$  for  $\alpha, \beta \in \mathbb{R}$ , then  $\rho'_{\pm}(x, y; z) = 0$ .

*Proof.* (i) If  $z = \alpha x$ , then

$$\rho_{\pm}'(x,y;\alpha x) = \|x,\alpha x\| \lim_{t\to 0^{\pm}} \frac{\|x+ty,\alpha x\|-\|x,\alpha x\|}{t} = 0.$$

(ii) If  $z = \beta y$ , then

$$\rho'_{\pm}(x,y;\beta y) = ||x,\beta y|| \lim_{t \to 0^{\pm}} \frac{||x+ty,\beta y|| - ||x,\beta y||}{t} = 0.$$

| (b) I of x, y, $\zeta \subset X$ , unus $p_{+}(x, y, \zeta)$ , $p_{-}(x, y, \zeta)$ exists | (b) For $x, y, z \in X$ , | limits $\rho'_+(x,y;z)$ , | $\rho'_{-}(x,y;z)$ exists |
|--------------------------------------------------------------------------------------------|---------------------------|---------------------------|---------------------------|
|--------------------------------------------------------------------------------------------|---------------------------|---------------------------|---------------------------|

*Proof.* Suppose  $f(t) = \frac{\|x+ty,z\| - \|x,z\|}{t}$ . If  $0 < t_1 < t_2$ , then

|  | _ |  |
|--|---|--|
|  |   |  |
|  |   |  |
|  |   |  |
|  |   |  |

$$f(t_1) - f(t_2)$$

$$= \frac{\|x + t_1y, z\| - \|x, z\|}{t_1} - \frac{\|x + t_2y, z\| - \|x, z\|}{t_2}$$

$$= \frac{\|t_2x + t_1t_2y, z\| - \|t_1x + t_1t_2y, z\| + (t_1 - t_2)\|x, z\|}{t_1t_2}$$

$$\leq \frac{\|(t_2 - t_1)x, z\| + (t_1 - t_2)\|x, z\|}{t_1t_2}$$

$$= 0.$$

So f(t) is a monotonically increasing function with infimum. By the similar method, if  $t_1 < t_2 < 0$ , then f(t) is a monotonically increasing function with supremum. Consequently the limit exists.

**Theorem 2.3.** Let  $(X, \|\cdot, \cdot\|)$  be a real 2-normed space. Suppose  $\rho'_{+}(x, y; z)$ ,  $\rho'_{-}(x, y; z) : X \times X \to \mathbb{R}$  are defined as above. Let  $x, y, z \in X$ ,  $\alpha, \beta \in \mathbb{R}$ . Then (a) There is always  $\rho'_{-}(x, y; z) \le \rho'_{+}(x, y; z)$ . (b)  $\rho'_{\pm}(\alpha x, y; z) = \alpha \rho'_{\pm}(x, y; z) = \rho'_{\pm}(x, \alpha y; z)$ ,  $\alpha \ge 0$ . (b')  $\rho'_{\pm}(\alpha x, y; z) = \alpha \rho'_{\mp}(x, y; z) = \rho'_{\pm}(x, \alpha y; z)$ ,  $\alpha < 0$ . (c)  $\rho'_{\pm}(x, \alpha x + \beta y; z) = \alpha ||x, z||^2 + \beta \rho'_{\pm}(x, y; z)$ . (d)  $|\rho'_{\pm}(x, y; z)| \le ||x, z|| ||y, z||$ . (e) If  $||y_n, z|| \to ||y, z||$ ,  $y_n \in X(n = 1, 2 \cdots)$ , then  $\rho'_{\pm}(x, y_n; z) \to \rho'_{\pm}(x, y; z)$ .

# Proof. The proof is as follows.

(a) Suppose f(t) = ||x+ty,z||-||x,z||/t. If t<sub>1</sub> < 0 < t<sub>2</sub>, by the similar method used in Remark 2.2(b), then we can get f(t<sub>1</sub>) − f(t<sub>2</sub>) ≤ 0, f(t<sub>1</sub>) ≤ f(t<sub>2</sub>). Consequently we have ρ'<sub>-</sub>(x,y;z) ≤ ρ'<sub>+</sub>(x,y;z).
(b) Take x, y, z ∈ X, α ≥ 0. Then

$$\rho'_{\pm}(\alpha x, y; z) = \|\alpha x, z\| \lim_{t \to 0^{\pm}} \frac{\|\alpha x + ty, z\| - \|\alpha x, z\|}{t}$$
$$= \alpha \|x, z\| \lim_{t \to 0^{\pm}} \frac{\|x + \frac{t}{\alpha} y, z\| - \|x, z\|}{\frac{t}{\alpha}}$$
$$= \alpha \|x, z\| \lim_{s \to 0^{\pm}} \frac{\|x + sy, z\| - \|x, z\|}{s} \quad (s = \frac{t}{\alpha})$$

$$=\alpha \rho'_{\pm}(x,y;z).$$

Similarly

$$\begin{split} \rho'_{\pm}(x, \alpha y; z) &= \|x, z\| \lim_{t \to 0^{\pm}} \frac{\|x + t \alpha y, z\| - \|x, z\|}{t} \\ &= \alpha \|x, z\| \lim_{t \to 0^{\pm}} \frac{\|x + t \alpha y, z\| - \|x, z\|}{t \alpha} \\ &= \alpha \|x, z\| \lim_{s \to 0^{\pm}} \frac{\|x + s y, z\| - \|x, z\|}{s} \quad (s = \alpha t) \\ &= \alpha \rho'_{\pm}(x, y; z). \end{split}$$

So  $\rho'_{\pm}(\alpha x, y; z) = \alpha \rho'_{\pm}(x, y; z) = \rho'_{\pm}(x, \alpha y; z).$ (b') When  $\alpha < 0$ , the proof method is the same as (b).

(c) Take  $x, y, z \in X$ ,  $\alpha, \beta \in \mathbb{R}$ . Suppose *t* is small enough such that  $1 + t\alpha > 0$ . Then (i) If  $\beta = 0$ , then

$$\rho'_{\pm}(x, \alpha x; z) = \|x, z\| \lim_{t \to 0^{\pm}} \frac{\|x + t\alpha x, z\| - \|x, z\|}{t}$$
$$= \|x, z\| \lim_{t \to 0^{\pm}} \frac{t\alpha \|x, z\|}{t}$$
$$= \alpha \|x, z\|^{2}.$$

(ii) If  $\beta \neq 0$ , then

$$\begin{split} \rho'_{\pm}(x,\alpha x + \beta y;z) &= \|x,z\| \lim_{t \to 0^{\pm}} \frac{\|x + t(\alpha x + \beta y), z\| - \|x,z\|}{t} \\ &= \|x,z\| \lim_{t \to 0^{\pm}} \frac{(1 + t\alpha)(\|x + \frac{t\beta}{1 + t\alpha}y, z\| - \|x, z\|) + t\alpha\|x, z\|}{t} \\ &= \alpha \|x,z\|^2 + \|x,z\| \lim_{t \to 0^{\pm}} \frac{\|x + \frac{t\beta}{1 + t\alpha}y, z\| - \|x,z\|}{\frac{t\beta}{1 + t\alpha}} \beta \\ &= \alpha \|x,z\|^2 + \|x,z\| \lim_{s \to 0^{\pm}} \frac{\|x + sy, z\| - \|x,z\|}{s} \beta \quad (s = \frac{t\beta}{1 + t\alpha}) \\ &= \alpha \|x,z\|^2 + \beta \rho'_{\pm}(x,y;z). \end{split}$$

(d) Take  $x, y, z \in X$ . Then

$$| \rho'_{\pm}(x,y;z) | = ||x,z|| \lim_{t \to 0^{\pm}} | \frac{||x+ty,z|| - ||x,z||}{t} |$$
  
$$\leq ||x,z|| \lim_{t \to 0^{\pm}} | \frac{||x,z|| + |t| ||y,z|| - ||x,z||}{t} |$$
  
$$\leq ||x,z|| ||y,z||.$$

(e) Take  $x, z \in X$ . Suppose  $||y_n, z|| \rightarrow ||y, z||$ , then

$$\begin{aligned} \rho'_{\pm}(x,y_n;z) &- \rho'_{\pm}(x,y;z) \\ &= \|x,z\| \lim_{t \to 0^{\pm}} \frac{\|x+ty_n,z\| - \|x,z\|}{t} - \|x,z\| \lim_{t \to 0^{\pm}} \frac{\|x+ty,z\| - \|x,z\|}{t} \\ &= \|x,z\| \lim_{t \to 0^{\pm}} \frac{\|x+ty_n,z\| - \|x+ty,z\|}{t} \\ &\leq \|x,z\| \lim_{t \to 0^{\pm}} \frac{\|ty_n - ty,z\|}{t} \\ &= \|x,z\| \|y_n - y,z\| \to 0. \end{aligned}$$

**Proposition 2.4.** If  $(X, (\cdot, \cdot | \cdot))$  is a 2-inner product space with 2-norm defined by  $||x, z|| = (x, x|z)^{\frac{1}{2}}$ , then we can get

$$\rho'_+(x,y;z) = (x,y|z) = \rho'_-(x,y;z).$$

Proof. For the integrity of the content, we will give its proof process

$$\begin{split} \rho'_{\pm}(x,y;z) &= \lim_{t \to 0^{\pm}} \frac{\|x+ty,z\|^2 - \|x,z\|^2}{2t} \\ &= \lim_{t \to 0^{\pm}} \frac{(x+ty,x+ty|z) - (x,x|z)}{2t} \\ &= \lim_{t \to 0^{\pm}} \frac{(x,x|z) + 2t(x,y|z) + t^2(y,y|z) - (x,x|z)}{2t} \\ &= \lim_{t \to 0^{\pm}} \frac{2t(x,y|z) + t^2(y,y|z)}{2t} \\ &= \lim_{t \to 0^{\pm}} \frac{2(x,y|z) + t(y,y|z)}{2} \\ &= (x,y|z). \end{split}$$

Obviously, if  $z = \alpha x$  or  $z = \beta y$ , the result also true. Therefore  $\rho'_+(x,y;z) = (x,y|z) = \rho'_-(x,y;z)$ . The proposition is proved.

**Definition 2.5.** ([7]) Let  $[\cdot, \cdot|\cdot]$  be a real valued function on  $X \times X \times X$  which satisfies the following conditions:

 $[\cdot,\cdot|\cdot]$  is a 2-semi-inner product and  $(X,[\cdot,\cdot|\cdot])$  is called a 2-semi-inner product space. A 2-semi-inner-product space is a 2-normed space with the 2-norm  $||x,z|| = [x,x|z]^{\frac{1}{2}}$  provided [x,x|z] = [z,z|x] [18].

**Proposition 2.6.** If  $(X, [\cdot, \cdot|\cdot])$  is a 2-semi-inner product space with [x, x|z] = [z, z|x], then we can get

$$\rho'_{\pm}(x,y;z) = \lim_{t \to 0^{\pm}} [y,x+ty|z].$$

*Proof.* According to the Theorem 2.3(d) and  $||x,z|| = [x,x|z]^{\frac{1}{2}}$ , we can get

$$\begin{split} \rho_{\pm}'(x,y;z) &= \|x,z\| \lim_{t \to 0^{\pm}} \frac{\|x+ty,z\| - \|x,z\|}{t} \\ &= \lim_{t \to 0^{\pm}} \frac{\|x+ty,z\| - \|x,z\|}{t} \|x+ty,z\| \\ &\leq \lim_{t \to 0^{\pm}} \frac{[x+ty,x+ty|z] - [x,x+ty|z]}{t} \\ &= \lim_{t \to 0^{\pm}} [y,x+ty|z] \\ &= \lim_{t \to 0^{\pm}} \frac{[x+2ty,x+ty|z] - [x+ty,x+ty|z]}{t} \\ &\leq \lim_{t \to 0^{\pm}} \frac{\|x+2ty,z\| \|x+ty,z\| - \|x+ty,z\|^2}{t} \\ &= \lim_{t \to 0^{\pm}} \frac{\|x+2ty,z\| - \|x+ty,z\|}{t} \|x,z\| \\ &= \lim_{t \to 0^{\pm}} [2\frac{\|x+2ty,z\| - \|x,z\|}{2t} - \frac{\|x+ty,z\| - \|x,z\|}{t}] \|x,z\| \end{split}$$

$$= \lim_{t \to 0^{\pm}} \frac{\|x + ty, z\| - \|x, z\|}{t} \|x, z\|$$
$$= \rho'_{\pm}(x, y; z).$$

(i) If  $z = \alpha x$ , then

$$\begin{aligned} \rho_{\pm}'(x,y;\alpha x) &= \lim_{t \to 0^{\pm}} \frac{\|x + ty, \alpha x\|^2 - \|x, \alpha x\|^2}{2t} = 0, \\ 0 &\leq \lim_{t \to 0^{\pm}} [y, x + ty |\alpha x] \\ &\leq \lim_{t \to 0^{\pm}} [y, y |\alpha x]^{\frac{1}{2}} [x + ty, x + ty |\alpha x]^{\frac{1}{2}} \\ &= \lim_{t \to 0^{\pm}} \|y, \alpha x\| \|x + ty, \alpha x\| \\ &= \lim_{t \to 0^{\pm}} \alpha^2 t \|x, y\| \\ &= 0. \end{aligned}$$

(ii) If  $z = \beta y$ , then

$$\rho'_{\pm}(x,y;\beta y) = \lim_{t \to 0^{\pm}} \frac{\|x+ty,\beta y\|^2 - \|x,\beta y\|^2}{2t} = 0,$$
  
$$0 \le \lim_{t \to 0^{\pm}} [y,x+ty|\beta y]$$
  
$$\le \lim_{t \to 0^{\pm}} [y,y|\beta y]^{\frac{1}{2}} [x+ty,x+ty|\beta y]^{\frac{1}{2}}$$
  
$$= 0.$$

For any arbitrary non-zero elements  $x, y \in X$ , let V(x, y) denote the subspace of X generated by x, y.

Compared with the definition of  $\rho$ -orthogonality in normed space, we give the definition of  $\rho$ -orthogonality in 2-normed space.

**Definition 2.7.** Let  $(X, \|\cdot, \cdot\|)$  be a real 2-normed space. Let  $x, y, z \in X$  and  $z \notin V(x, y)$ . We define  $\rho_+$ -orthogonality,  $\rho_-$ -orthogonality,  $\rho$ -orthogonality as follows.

(a) We call x is  $\rho_+$ -orthogonality to y denoted by  $x \perp_{\rho_+} y$ , if  $\rho'_+(x,y;z) = 0$  for each  $z \notin V(x,y)$ .

(b) We call x is ρ\_-orthogonality to y denoted by x ⊥<sub>ρ\_</sub> y, if ρ'\_(x,y;z) = 0 for each z ∉ V(x,y).
(c) We call x is ρ-orthogonality to y denoted by x ⊥<sub>ρ</sub> y, if ρ'<sub>+</sub>(x,y;z) + ρ'\_(x,y;z) = 0 for each z ∉ V(x,y).

The above case is that  $z \notin V(x,y)$ . If  $z \in V(x,y)$ , we need to pay attention to the following two cases

**Remark 2.8.** Let  $(X, \|\cdot, \cdot\|)$  be a real 2-normed space. Take  $x, y, z \in X$  and  $z \in V(x, y)$ . (a) Take  $z = \alpha x + \beta y$ ,  $\alpha \beta \neq 0$ . If  $\rho'_{\pm}(x, y; z) = 0$ , then y = sx.

(b) Take  $z = \beta y$  or  $z = \alpha x$ ,  $\alpha \neq 0$ ,  $\beta \neq 0$ . Then we can get  $\rho'_{\pm}(x, y; z) = 0$ .

*Proof.* (a) Suppose  $z = \alpha x + \beta y$ ,  $\alpha \beta \neq 0$ . Then

$$\rho'_{\pm}(x,y;z) = \lim_{t \to 0^{\pm}} \frac{\|x+ty,\alpha x+\beta y\|^2 - \|x,\alpha x+\beta y\|^2}{2t}$$
$$= \lim_{t \to 0^{\pm}} \frac{\|\beta - \alpha t\|^2 \|x,y\|^2 - \beta^2 \|x,y\|^2}{2t}$$
$$= \lim_{t \to 0^{\pm}} \frac{(-2\alpha\beta t + \alpha^2 t^2) \|x,y\|^2}{2t}$$
$$= -2\alpha\beta \|x,y\|^2.$$

So if  $\rho'_{\pm}(x, y; z) = 0$ , that is ||x, y|| = 0, then y = sx.

(b) The conclusion has been given in Remark 2.2.

**Theorem 2.9.** Let  $(X, \|\cdot, \cdot\|)$  be a real 2-normed space. Then the following conditions are equivalent:

- (a)  $\rho'_{+} = \rho'_{-};$ (b)  $\perp_{\rho_{+}} \subset \perp_{\rho_{-}};$ (c)  $\perp_{\rho_{-}} \subset \perp_{\rho_{+}};$ (d)  $\perp_{\rho_{-}} = \perp_{\rho_{+}};$ (e)  $\perp_{\rho_{+}} \subset \perp_{\rho};$ (f)  $\perp_{\rho} \subset \perp_{\rho_{+}};$ (g)  $\perp_{\rho} = \perp_{\rho_{+}};$
- (h)  $\perp_{\rho_{-}} \subset \perp_{\rho}$ ;

(i)  $\perp_{\rho} \subset \perp_{\rho_{-}}$ ; (j)  $\perp_{\rho} = \perp_{\rho}$ .

*Proof.* We first prove that  $(a) \Leftrightarrow (b) \Leftrightarrow (d)$ . We know that  $(a) \Rightarrow (d) \Rightarrow (b)$  is obvious. Next we prove that  $(b) \Rightarrow (a)$ . Suppose that (b) holds. Let  $x, y, z \in X$  and  $z \notin V(x, y)$  (We may assume  $x \neq 0$ , otherwise (a) holds trivially). We define  $\alpha := \frac{\rho'_+(x,y;z)}{\|x,z\|^2}$ ,  $w := -\alpha x + y$ . From Theorem 2.3(c), we have

$$\rho'_{+}(x,w;z) = \rho'_{+}(x, -\alpha x + y;z)$$
  
=  $-\alpha ||x,z||^{2} + \rho'_{+}(x,y;z)$   
=  $0,$ 

Therefore,  $x \perp_{\rho_+} w$ . According to the hypothesis, we can get,  $x \perp_{\rho_-} w$ ,

$$\rho'_{-}(x, -\alpha x + y; z) = 0.$$

According to Theorem 2.3(c), we can get

$$\rho'_{-}(x, -\alpha x + y; z) = -\alpha ||x, z||^{2} + \rho'_{-}(x, y; z) = 0.$$

Therefore, we can get  $\rho'_{+}(x,y;z) = \rho'_{-}(x,y;z)$ , which proves (*a*).

We also know that  $(a) \Rightarrow (d) \Rightarrow (c)$  and the proof of  $(c) \Rightarrow (a)$  can also be obtained. So we can prove that  $(a) \Leftrightarrow (b) \Leftrightarrow (c) \Leftrightarrow (d)$ .

With the above proof, we can also prove that  $(a) \Leftrightarrow (e) \Leftrightarrow (f) \Leftrightarrow (g)$  and  $(a) \Leftrightarrow (h) \Leftrightarrow (i) \Leftrightarrow (j)$ .

**Definition 2.10.** Let  $(X, \|\cdot, \cdot\|)$  be a 2-normed space. Let  $x, y, z \in X$ . We call x is b-orthogonality to y denoted by  $x \perp^b y$  if  $\|x + ty, z\| \ge \|x, z\|$  for every real number t and each element  $z \notin V(x, y)$ .

**Theorem 2.11.** Let  $(X, \|\cdot, \cdot\|)$  be a real 2-normed space. Let  $x, y, z \in X$  and  $z \notin V(x, y)$ . Then the following statements are equivalent:

(a) 
$$\rho'_{-}(x,y;z) \le 0 \le \rho'_{+}(x,y;z);$$
  
(b)  $x \perp^{b} y.$ 

*Proof.* (a)  $\Rightarrow$  (b). Suppose that  $\rho'_{-}(x,y;z) \le 0 \le \rho'_{+}(x,y;z)$ . If  $t \ge 0$ , it follows from Theorem 2.3(*d*) that

$$\rho'_{+}(x, x+ty; z) \le ||x, z|| ||x+ty, z||.$$

In addition, according to Theorem 2.3(c),

$$\rho'_{+}(x,x+ty;z) = t\rho'_{+}(x,y;z) + ||x,z||^{2},$$

which implies

$$t\rho'_{+}(x,y;z) \le (||x+ty,z|| - ||x,z||)||x,z||.$$

Since  $\rho'_+(x,y;z) \ge 0, t \ge 0$ , we have

$$||x + ty, z|| - ||x, z|| \ge 0.$$

Since  $\rho'_{-}(x,y;z) \leq 0$ , from Theorem 2.3(*b*) we get  $-\rho'_{-}(x,y;z) = \rho'_{+}(x,-y;z) \geq 0$  which implies that  $||x-ty,z|| - ||x,z|| \geq 0$  for all  $t \geq 0$ . Consequently, we get  $x \perp^{b} y$ . (a)  $\Rightarrow$  (b) is proved. (b)  $\Rightarrow$  (a). Suppose that  $x \perp^{b} y$ . According to the definition of b-orthogonality, we know  $||x+ty,z|| \geq ||x,z||$ . Therefore, we can get  $\rho'_{-}(x,y;z) \leq 0 \leq \rho'_{+}(x,y;z)$ . (b)  $\Rightarrow$  (a) is proved.  $\Box$ 

#### **ACKNOWLEDGEMENTS**

The author wish to express her appreciation to Professor Xujian Huang for several valuable comments.

### **CONFLICT OF INTERESTS**

The author(s) declare that there is no conflict of interests.

### REFERENCES

- [1] B.D. Roberts, On the geometry of abstract vector spaces. ThÔku Math. J. 39 (1934), 42-59.
- [2] G. Birkhoffff, Orthogonality in linear metric spaces. Duke Math. J. 1 (1935), 169-172.
- [3] C. Alsina, J. Sikorska, M. Santos Tomás, On the equation of the  $\rho$ -orthogonal additivity. Commentat. Math. 47 (2007), 171-178.
- [4] J. Alonso, H. Martini, S. Wu, On Birkhoff orthogonality and isosceles orthogonality in normed linear spaces. J. Aequationes Math. 83 (2012), 153-189.
- [5] S. Gähler, Lineare 2-normierte Räume. 1965.

#### YUNNA MA

- [6] R. Ehret, Linear 2-normed spaces, Doctoral Dissertation, St. Louis Univ. 1969.
- [7] Y.J. Cho, K.S. Ha, W.S. Kim, Strictly convex linear 2-normed spaces. Math. Nachr. 146 (1990), 7-16.
- [8] R.C. James, Orthogonality in normed linear spaces. Duke Math. J. 12 (1945), 291-302.
- [9] S.S. Dragomir, On approximation of continuous linear functionals in normed linear spaces. An. Univ. Timisoara Ser. Stiint. Mat 29 (1991), 51-58.
- [10] C. Alsina, J. Sikorska, M. Santos Tomás, Norm derivatives and characterizations of inner product spaces. World Scientific, (2010).
- [11] P.M. Miličić, Sur la G-orthogonalité dans les espaces normés. Mat. Vesnik 39 (1987), 325-334.
- [12] S.S. Dragomir, Semi-inner products and applications. Nova Science Publishers, (2004).
- [13] D. Amir, Characterization of inner product spaces. Birkhäuser Verlag, Basel (1986).
- [14] C.R. Diminnie, A. White, 2-inner product spaces and Gâteaux partial derivatives. Commentat. Math. Univ. Carol. 16 (1975), 115-119
- [15] H. Mazaheri, S.G. Nezhad, Some results on b-orthogonality in 2-normed linear spaces. Int. J. Math. Anal. 1 (2007), 681-687.
- [16] C. Diminnie, S. G\u00e4hler, A. White, Remarks on strictly convex and strictly 2-convex 2-normed spaces, Math. Nachr. 88 (1979), 363-372.
- [17] H. Gunawan, Mashadi, S. Gemawati, et al. Orthogonality in 2-normed spaces revisited. Univ. Beograd Publ. Elektrotehn. Fak. Ser. Mat. 17 (2006), 76-83.
- [18] A.H. Siddiqui, S.M. Rizvi, 2-semi-inner product spaces. I. Math. Japon. 21 (1976), 391-397.
- [19] P. Wójcik, Linear mappings approximately preserving orthogonality in real normed spaces. Banach J. Math. Anal. 9 (2015), 134-141.
- [20] C. Chen, F. Lu, Linear maps preserving orthogonality. Ann. Funct. Anal. 6 (2015), 70-76.